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Area, Perimeter, Input and Output Review

1. Iftheinputis 12, what is the output?

Input-Output Table
: o || o
— —
60
40
30

A. 10 B.3 C. 132 D.108

2. Use a ruler to measure the dimensions of
the ticket below to the nearest centimeter.
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What is the perimeter of the ticket in centimeters?

C.24cm
D.28cm

A. 20cm
B. 22cm

3. Each number in Set A is paired with a
number in Set B. The relationship for each
pair of numbers is the same.

SetA| 54 65 76
SetB| 9 20 31

If the number in Set A is 84, how could you find
its paired number in Set B.

A. Divide 84 by 6

B. Subtract 45 from 84
C. Multiply 84 by 9

D. Add 45to 84

4. The math machine below changes entered
numbers accourding to a rule.

Math Machinn

38— n [ 0w 74
50 > o [P ou — 09
46— [ 0w — &7

Based on the examples above, what does the
math machine do to a number that is entered?

A. It multiplies the entered number by 2.
B. It adds 34 to the entered number.
C. It multiples the entered number by 3.
D. It adds 41 to the entered number.

A model of a tennis court is shown below.

o

&

36 ft

. 78 ft >

What is the area of the tennis court?

A. 228 sq. ft C. 2,808 sq. ft.
B. 2,702sq.ft. D.2,8445q.ft

6. Jared has just moved into a house. He and
his dad are going to plant squares of grass
in the front yard. The front yard is 57 feet
long and 83 feet wide. What is the total
amount of grass that he needs for the front

yard?
A. 4,731sq. ft. C. 140 sq. ft.
B. 75 sq. ft. D. 26 sq. ft.



7. A model of a volleyball court is shown
below.

em

?

The width is 6 meters. The perimeter is 36 meters.

What is the length?

A. 30m C 12m
B. 18m D.24m

8. The area of the flag below is 48 sq. inches.

The length is 12 inches. What is the width?

A. 1 C.2
B. 3 D.4

9. When Xavier says a number, X, Zeke says a

number using Z using a certain rule.

10. Kendra and Ricky are playing a game with
numbers. When Kendra says a number,
Ricky says a number using a certain rule.

Kendra's Ricky's
Number Number
10 20
12 22
15 25
19 29

Xavier's Zeka's

. Number Number
X) L]
25 5
40 8
65 13

A. Z=X-20
B. Z=X+15

C.z=X
D.Z=Xx10

Which describes the relationship in the table?

Which rule below does Ricky apply to each
number that Kendra says?

A. Subtract 10
Multiply by 2
C. Add 10

. Divide by 2

w

o

11. Which figure has perimeter that is less than
100 units?

a
A.3 C g
25y 30u
&= D.
;
2y 25u



_12. The table below shows the number of 14. Use a ruler to measure the dimensions of
ounces equivalent to different number of the figure below to the nearest centimeter.
packages. Which describes the relationship
shown in the table?

Number of Number of

Packages Ounces
3 24
8 64
15 120 What is the area of the figure in square
22 176 centimeters?
A. 9sq.cm C.18sg.cm
A. Number of packages x 8 = number of B. 20sq.cm D. 14 sq.cm
ounces
B. Number of packages < 8 = number of
ounces
C. Number of packages x 4 = number of 15. Which equation can be used to find, A, the
ounces area of the rectangle?
D. Number of packages +~ 4 =numberof 14
ounces
6
A 6x14 C.6+14

B. 6x14x2 D. (6 +14)

13. Nevaeh bought the stationary shown

below.
16. This is a Swiss fiag. The area of the flag is
12in 2,160 square inches.
g

Bin|é 9
@
2R 4

What is the perimeter of the stationary in What could be the dimensions of the flag?

inches?

A. Length: 18 Width: 30
B. Length: 36 Width: 6

C. Length: 36 Width: 60
D. Length: 180 Width: 3

A. 96 inches C. 20inches
B. 24 inches D. 32 inches



17. Anna drew three rectangles. The first 20. Calla drew this figure. It has a perimeter of .
rectangle was 13 cm long and 9 cm wide. 37 meters.
The second rectangle was 25 cm long and
15 cm wide. The third rectangle was 18 cm

long and 10 cm wide. In square centimeters,
how much greater was the area of the third 3m
rectangle than the area of the first —
Gm
rectangle?
10m

A. 117sqcm C.375sqcm
B. 180sqcm D.63sqgcm

What is the length of the missing side?

A, 10m C7m

18. Mr. Johns needs to replace carpet in his B. ém D.30m

living room. The room is 18 feet long and 24
feet wide. How much carpet does he need

to cover his living room floor? 21. The table shoes the number of eggs in different

numbers of cartons.
A. 84 5q. ft. C.42 5q. ft Cartons 2 3 4 5
B. 432 sq. ft. D. 400 sq.ft of Eggs

Eggs 24 36 48 60

Which number sentence can be used to find the

19. Find the area of both rectangles. Whatis - number of eggs in 12 cartons?
the sum of the two areas of the rectangle? A. 12+60 C. 12x12
B. 12x9 0. 60 =12
A Yem
6oem
B fcm
24 cm
A. 12sg.cm C. 204 sq. cm.

B. 192sq.cm. D. 180 sq. ft
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Vo abular
Vocabulary
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Choose the best term from the box. : . perimeter
area

. A set of symbols that expresses a mathematical rule is
' formula

calleda . (p.422) pattern

2. The is the distance around a figure. (p.421) square unit (sq un)

JTA is an ordered set of numbers or objects. (p. 409)

Concepts and Skl”S

TR TR WA — AL . T A

Use the rule to write the first ten terms in the pattern. Describe another
pattern in the numbers., % TEKS 4.5.8

4. Rule: Add 8. First term: 7

5. Find a rule. Use your rule to write an

expression. ¥ TEKS 4.5.B table. W TEKS 4.5.8

Rule: The outputis a X 5.

6. Usetheruleto comi)lete the input/output

| .
Input 6

Input

Output ' 12

Output

Rule:

Find the perimeter and area of the rectangle or square. ¥ TEKS 4.5.D

7. 6in. 8. 14 ft 9.

Unit 3 441




Fill in the bubble complietely to show your answer. ). E#TEXAS Test Prep

10. Melissa wants to use a formula to find the perimeter of the figure
below. Which formula should Melissa use? % TEKS 4.5.C

16 ft

P=2+w+2+1 © P=IXw+ixw
P=l+w © P=4s

. Martin buys four packs of baseball cards. Each pack has 12 cards
in it. He then buys 3 more packs of cards with 8 cards in each pack.
How many baseball cards did Martin buy? Use strip diagrams or
equations to help you solve. # TEKS 4.5.A

.@® 96 © 7
72 ® 66

. Greg drew the sketch of his garden below. What is the area of
Greg’s garden? #pTEKS 4.5.C

24 ft

(® 36square feet (© 288 square feet
200 square feet @ 72square feet

. Pablo is using this strip diagralﬁ to solve a problem. Which
equation is shown by the strip diagram? - Jp TEKS 4.5.A

2,774 5546

P
@ 5548-2774=p © 2774+558=p .
558 —p=2774 (D) 2774+p=5548




14. Marcel had 72 stickers, He gave 14 of his stickers to his sister. PTEXAS Test Prep
Then he gave 27 stickers to his brother. How many stickers does 2
Marcel have left? Use strip diagrams or equations to help you
solve. #pTEKS 4.5.A

Q)
©
©

. Gabby wants to put a fence around the perimeter of her backyard.
She drew a sketch of her backyard to determine the perimeter.
What is the perimeter of Gabby’s backyard? 4 TEKS 4.5.0

47 ft

@ 130ft © 112ft
611 ft © 83ft

. Dan wants to find the area of his rectangular room so he will know
how much carpet to buy. Which formula should he use to find the
area of his room? 4 TEKS 4.5.C

@ A=Il+w
A=IXw
© A=(Ixw)+{IXw)

©® A=0xXw)+(2XxI)

. Erica has 144 lollipops. She wants to put the lollipops into
8 different bags, with each bag having the same number of
lollipops. Once Erica has ali the lollipops in the 8 bags, she
takes 2 lollipops out of each bag. How many lollipops are in
each of the 8 bags? Use strip diagrams or equations to help you
solve. #pTEKS 4.5.A

@ 12 © 20
® 16 ®© 18




18. Karen walks 4 miles on Monday. For the next 7 days, she walks TEXAS Test Prep
2 miles each day. How many miles total does Karen walk during
the 8 days? #pTEKS 4.5.8

@) 18 miles . © 34miles
14 miles . @ Not here

. During recess, Gretchen walked around the perimeter of the
playground. When she got home, she drew a sketch of the
playground to help her determine how far she walked during
recess. What is the perimeter of the playground? % TEKS 4.5.0

38m

@ 50m © 62m
88 m 100 m
®

. Van is buying new tires for some cars at his store. The input-output
table below shows the number of cars, ¢, and the number of tires,
t, on each car. Using the rule ¢ X 4, how many tires does Van have
to buy to replace all the tires on 6 cars? #pTEKS 4.5.8

. Input 2 3

| Output | Tires, ¢ __. 8

e S

@ 12 © 24
® 16 ® 20

. An art museum adds 3 new pieces of art each month. If the
museum starts with 75 pieces and the pattern continues, write the
numbers in the pattern for the next 8 months. Describe another
pattern in the numbers. ¥ TEKS 4.5.8
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?JE’"\’ Unit 3 Assessment

Vocabulary Vocébulary

Choose the best term from the box. perimeter

area

1. A set of symbols that expresses a mathematical rule is
' formula

called a {—O(MM\Q {p. 422) pattern

2. The gﬁfmgis the distance around a figure. (p.421) square unit (Sq_““)

3. A @aﬁ;m is an ordered set of numbers or objects. (p.409)

Concepts and Skl"S

A PR R Y L R L e e --'

Use the rule to write the first ten terms in the pattern. Describe another
pattern in the numbers., % TEKS 4.5.8

4. Rule: Add 8. First term: 7

F.15,23,2},39, 4%, 55, 63, 39

6. Use the rule to complete the mput/output

5. Find arule. Use your rule to write an
table. #p TEKS 4.5.8

expression. % TEKS 4.5.B
Rule: The outputis a X 5.

Input r;s‘ﬁ

l]utputl rﬂ 1 l 12 o

Rule:_ £ Tl =v E"ﬂ“

Find the perimete@ area of the rectangle or square. # TEKS 4.5.D

7. 6 8. 14 fr 9,

e Pl BTy

p= 24




Fill in the bubble completely to show your answer, - : I"?/ TEXAS Test Prep
g

10. Melissa wants to use a formula to find the Il‘i‘i@fl@! of the figure
below. Which formula should Melissa use? #p TEKS 4.5.C

16 ft

@ P=2+w+2+] © P=ixw+ixw

. Martin bu @- acks of baseball cards. Each pack ha
in it. He then buys 3 more packs of cards with 8 cards in each pack.
— . ot —————
How many baseball cards did Martin buy? Use strip diagrams or’

equations to help you solve. #pTEKS 4.5.A ' :

1 2 3 qxiz=4HY “4%
@ 96 © 27 2 x% = 24 :__2::5_
@ ® 66 32

. Greg drew the sketch of his garden below. What is ﬂ-@f
Greg’s garden? #p TEKS 4.5.C
20t 10 4
(o [10°
7.

12t

® 36square feet @ 288 square feet
200 square feet @ 72square feet

. Pablo is using this strip diagram to solve a problem. Which
equation is shown by the strip diagram? # TEKS 4.5.A

2,774 5548

P
A 5548—2774=p @ 2774+5548=p

5,548 — p = 2,774 ® 2774+ p=5,548

= -.-___.:._;:_
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i \ :
14. Marcel had 72 stickers. He gave 14 of his stickers to his sister. R jTEXAs Test Prep
Then he gave 27 stickers to his brother. How many stickers does . =
Marcel have left? Use strip diagrams or equations to help you

solve. #pTEKS 4.5.A "';’.'2_ S4
14 i

e

5% Tz

. Gabby wants to put a fence around the perimeter of her backyard.
She drew a sketch of her backyard to determine the perimeter.
What is the perimeter of Gabby’s backyard? p TEKS 4.5.D

47 ft

@ 130ft © 112ft
611 ft © B83ft

. Dan wants to find th@f his rectangular room so he will know
how much carpet to buy. Which formula should he use to find the
area of his room? #pTEKS 4.5.C

@ A=l+w
® A=Ixw

© A=(0xw)+{IXw)
@ A={Xxw)+(@2xI)

- Erica has 144 lollipops. She wants to put the lollipops into
8 different bags, with each bag having the mof

lollipops. Once Erica has all the lollipops in the 8 bags, she
es 2 lollipops out of each bags How many lollipops are in
each of the 8 bags? Use strip diagrams or equations to help you

solve, #pTEKS 4.5.A

@ 12 © 20
@® 15 ® 18
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18. Karen walks 4 miles on Monday. For the next 7 days, she walks 3 \(TEXAS Test Prep

-2 miles each day. How many miles total does Karen walk during

the 8 days? #pTEKS 4.5.B
‘ i t”,(.o,r%’; ‘0‘12"lbll|b.l?
@ 18miles ~ (© 34miles

14 miles @ Not here

. During recess, Gretchen walked around the perimeter of the
playground. When she got home, she drew a sketch of the
playground to help her determine how far she walked during
recess. What is the perimeter of the playground? #p TEKS 4.5.D

38 m

@ 50m - © 62m
88 m @ 10om

. Van is buying new tires for some cars at his store. The input-output
table below shows the number of cars, ¢, and the number of tires,
t, on each car. Using the rule ¢ X 4, how many tires does Van have
to buy to replace all the tires on 6 cars? # TEKS 4.5.8

‘Input . Gars,c 1

Dutpul Tires, { 4

_@ 12 .24
16 @ 20

e: +3%
. An art museum adds 3 new pieces of art each month. If the

museum starts with 75 pieces and the pattern continues, write the
numbers in the pattern for the nex(_’}months. Describe another
pattern in the numbers. # TEKS 4.5.8

F50 ALHI T Bt © 513 Ao, Olal
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